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QUESTION 1

DRAG DROP 

Select each security implementation on the left and drag it to the corresponding security policies. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

A bookseller maintains a database of more than 10,000 book titles. You have been asked to configure a form that a
allow users to select a book by title. 

How do you configure the form? 

A. Add a drop-down control arid source the data from the property value used in the control. 

B. Add a drop-down control and Source the data using a data page. 

C. Add an autocomplete control and Source the data using a data page. 
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D. Add an autocomplete control and source the data from the clipboard work page. 

Correct Answer: C 

 

QUESTION 3

You are designing a medical claim case type and have the following requirement: Medical claims must be resolved
within 5 days. To meet this requirement you need to set the___________in the service level to 5 days. 

A. passed deadline 

B. urgency 

C. deadline 

D. goal 

Correct Answer: C 

 

QUESTION 4

A flow action calls a pre-processing data transform to initiate values. There are several flow actions available for the
assignment. You want to make sure that the values are only initiated once for each flow action. How do you implement a
solution? 

A. Do nothing. The pre-processing data transform is only called once for each assignment. 

B. Make sure that the flow action does not have the highest likelihood since it will always be invoked. 

C. Configure the data transform as post-processing instead of pre-processing. 

D. Add logic to the pre-processing data transform to test if values were already initiated. 

Correct Answer: A 

 

QUESTION 5

Color options are available to the customer, but the options are available on the screen, and do not appear with the
popup. 

Which option to configure the color option? 

A. Dropdown 

B. Radio button 

C. Check box 

D. Autocomplete/Textfield 

Correct Answer: B 
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QUESTION 6

A life insurance company has satellite offices in various countries. Each satellite office has a work queue. Company
policy requires that life insurance underwriting be assigned to offices based on the policy owner\\'s residential address. 

Which routing approach supports this requirement? 

A. Route the assignment to the correct work queue by using an authority matrix. 

B. Route the assignment to the correct work queue based on business logic. 

C. Route the assignment to a specific underwriter based on business logic. 

D. Route the assignment to the correct work queue by using a reporting structure. 

Correct Answer: B 

 

QUESTION 7

To reduce scrolling on a view, you want to organize existing content so that details display when an option is selected in
a drop-down menu. There is no drop-down menu currently on the view. 

Which two configurations achieve the business requirement? (Choose Two) 

A. Configure a layout group to separate each option into individual panels and set the layout to a menu format. 

B. Configure a disable condition (when rule) on each field to allow access when the associated option is selected on the
drop-down control. 

C. Configure a repeating dynamic layout with an embedded section for each option and set the layout format to
grouped. 

D. Configure a data relationship to select the option using the Drop-down list record selection. 

Correct Answer: AD 

 

QUESTION 8

HOTSPOT 

In the Answer Area, identify the type of data measured in each report. 

Hot Area: 
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Correct Answer:  

 

QUESTION 9

In processing a parent case P-l, two child cases C-l and C-2 are created. Which of the following statements is correct
about the processing of P-l, C-l, and C-2? 
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A. P-l must be resolved before either C-l or C-2 can be resolved. 

B. Either C-l or C-2 must be resolved before P-l can be resolved. 

C. C-l must be resolved before C-2 can be resolved. 

D. Both C-l and C-2 must be resolved before P-l can be resolved. 

Correct Answer: D 

 

QUESTION 10

DRAG DROP 

Select each description on the left and drag it to the correct field type on the right. 

Select and Place: 

Correct Answer: 
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QUESTION 11

A form must support accessibility. 

How do you enable a user to specify a date? 

A. Configure a text box to allow date entry. 

B. Use a calendar control that displays an entire year. 

C. Use a calendar control that displays an entire month. 

D. Provide separate controls for month, day, and year. 

Correct Answer: D 

 

QUESTION 12

Need to select one severity option which is best. 

A. Picklist 

B. Radio button 

C. Checkbox 

Correct Answer: B 
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QUESTION 13

You want to unit test a rule. To ensure that the rule executes as intended, you need to populate the clipboard with valid
data. Which two options allow you to populate the clipboard before testing the rule? (Choose Two) 

A. Configure an assertion to define the required data. 

B. Configure a validate rule to populate the needed data. 

C. Run a data transform to create the test page. 

D. Copy data from an existing clipboard page. 

Correct Answer: CD 

 

QUESTION 14

A home loan application requires approvals from the Legal team manager and the Finance team manager. The Legal
team manager must approve before the Finance team manager. How do you configure this requirement? 

A. Create an approval process for each manager in parallel. 

B. Apply business logic to route a single assignment in the correct order. 

C. Create an approval step with cascading approval. 

D. Route an assignment to a work queue where both roles have access. 

Correct Answer: C 

 

QUESTION 15

You are implementing a Ul form collecting job applicant information. Users must provide values to certain fields before
submitting the form. Which configuration adds asterisks to indicate the mandatory fields on the form? 

A. Use a Validate rule to verify the mandatory fields have a value 

B. Configure the mandatory fields as Required in the section rule 

C. Use multiple Validate rules for each mandatory field 

D. Use an Edit Validate rule to verify if each of the mandatory properties has a value 

Correct Answer: B 
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